Question 13

Refer to the algorithm of a procedure to answer Questions 13 and 14.

BEGIN FindDogOwner (req_microchipno, req_ownername)

END

13

found = false
open (Owner) indexed by microchipno
read (Owner) microchipno, ownername
WHILE not found OR not end of file
IF microchipno = req_microchipno THEN
req_ownername = ownername

found = true
ENDIF
read (Owner) microchipno, ownername
ENDWHILE

IF not found THEN

print ‘no owner recorded’
ELSE

print ‘owner is ’; ownername
ENDIF

What type of variable is ‘found’?

(A) A constant
(B) A flag

(C) A string
(D) A trigger
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Choice Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6

A 24.7 24.8 5.5 1 0

C 21.9 16.8 6.5 2.1 0

D 20.5 19.7 11.1 2.1 0

N 0 0 0 0 0
Cuestion 13

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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